IHARKREFBERBBRFREFR (2024f50)

FARKEBAEAIR FARERIERH|
P P LA RO =45
B TR N ERBDIRAR =%
P LGYIES AR =%
P S RE D) ER R (EMR) =
79 2% U 2% LA IRAMILE JEHEAR =4
Ja N AT BIR ILE
T EHHEIE IR =5
WEL T AR BOE DI B R 7
A4 st T 45 B R VIR %
SN GN =4
N P IESERA AR =45
W T & i I IR AR —%
FURE WU E B A TR AR =%
2 MER BB AR LE
Ja NS SRS AR FIARPE B AMIEAN =4
— Sk IRAMILIK S5 1R =45
W T IEHEREZ VIR AR INESSS
A LIRAVIFRA 7
SUEVIT AR EE %
RN IR SE B T UIBRAR =4
Ak AR =5
W T IR AR R =%
BB N IR AR =%
N B ERATIBRA —%
R B SRR o R A SR A VU 2%
L RITIBRA — %
BT B SR I TR %
BRIR I BRA =%
H AT UIBRA —%
NEGERUEZY/N /N =5
FIPALGRBIIRA =45
BRI AR %




LRI A — 4
ATk — B AR =2
B 2 R 2RI A — 1
gy B T L AR =2
5| S TSR R — 4
G5 i = XA ] EREE IR AR =4
HITAE B RS LA =2
e T R R IR A =
B 2 R 2 IR SR A =
o P B IE A — 4
TEFHETIA — 7
Waps s T BT A =2
BRIV AR o
PIBL R BB YIG A (BYR) =
B B b R AR e
(4 P B AR R =
LT BRI IR =2
B 464 B AR =
W= Tk BRI A =2
TFRBHHIRA s
I SRR A — 7
B AR kA LA — 2
A EFA — 2
Bl ARG T BB IR A 2
w R ALSUR I A =
PIBL R A IR =
T LT B R ERA A =2
TR A — 2
H S R B A — 2
SERERHIR A —= 4
e T BUR IR A — 7
s s T SRR R AT K A R AR =2
S T R A %
B R ST EA =
HLI IR DI A — 4
Feh b R =




T B A ST Rl R =
i PR B I B I T R =%
b L B A IR A AR Py %
P B 0 £ T S — 1 AR =
HESR IR A =2
BHEE TR R BRI HLA =
B RS MR R —
RO ST L R =
7k MN Tt ke —2%
S BB T )T LR A E A it/
IMNECISEPN =
R RARA —
AN % B A 1) )R Py %
feEh ke AR — 5
WS Bk A e A R =2
BRC  E E  E E R A — 25
B A A —
SNSRI =
ST ST AT A XA A =
HFLHE 3 455 2 DT B A =25
F R A =
W T ERSRHR IR AR =%
AR FA AR A =
2SR H R 5 RS A —
R I 45 4 2 DT A =2
AT B A —%
Y R B R PR A ST SR AR =%
P s S B0 A AR 2 2 o7 5 LA =
2B IR B K S S BN =
[TRER/N TN =2
e 1 2 A —%
{15 L 4 45 R — 2k
N S AR —%
T ZAREE AR DI A s
R P B B B R A S R (P —
FEDIBRA —%




HEAE P T B AE RS K (FNA)

I

WD R R =%
P T B R — 4
HE R A —
i e 6 2 B A —
P T 2RSS IR A — 4
PETI IR N A] =
R A — 4
B\ BB () A P
i D R s ) =%
P T LI A — 4
PO T 5 32085 A [ESD] 2%
A7 BB ORI B A 5 R (P — 4
P T 2 RO IR A —
RIS BT A —
AR IRSMILES I A =g
R e A R A — 4
FAHASIF R ERA —
BIARL F R 2%
25 G TRk SR =g
LB IR BB A —
ARSI A — 4
BB P [ 5 B —

KA T BB R AR

=2




